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Problem 1: (21%) Evaluate the following integrals
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Problem 2: (16%) Evaluate the following improper integrals
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Problem 3: (28%}) For the following integrals, state whether they are convergent or diver-
gent, and give your reasons.
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Problem 4: (8%) Suppose that f{x) is non-negative, continuous over [a,o0) and that
oo

[ f(z) dz converges. What can you say about the convergence or divergence of \
Justify.
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Problem 5: (12%) For which a € R does the following improper integral converge? Justify

Your answer.
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Problem 6: (15%) Determine if the following sequences converge or diverge. Justify your
ANSWErs.
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